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Speed, Time, Distance
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Density , Mass, Volume
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A cyclist travels a distance of 90 miles in 5 hours. What is her average speed? 3y 7 "“f’Lt

I drive to Bude in Cornwall from Sheffield in about 6 hours. The distance from Sheffield to Bude is
315 miles. What is my average speed? 3y
5 6 = 5-2 .5 ""-f [\

@D The distance from Leeds to London is 210 miles. The train travels at an average speed of 90 mph.
If I catch the 9:30 am train in London, at what time would you expect me to get to Leeds?
2t0 :Z?L“,) z 2 hr 20~ So [(.J0an

Complete the following table.  2®
g
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[— 3 3 EETHUEIM  Remember to convert
a 150 miles 2 hours S mpek time to a decimal if you
b 260 miles Che 30 men 40 mph are using a calculator.
For example, 8 hours
C 175 ey 5 hours 35 mph 30 minutes is 8.5 hours.
d 240 cles 3 hours 80 km/h " )
e 544 km 8 hours 30 minutes Ca k[l S44 ~%-¢
t 325 ke ~ 3 hours 15 minutes 100 km/h (60 » 3.2¢
g 215 km 48t ) B imim 50 km/h 21 =58 =4-3

@D A train travels at 50 km/h for 2 hours, then slows down to do the last 30 minutes of its journey at
40 km/h.

a What is the total distance of this journey? $0 + 0 + 20 = (20 e

b What is the average speed of the train over the whole journey? |2z o
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